Match the statements.

They've got four houses.

You're driving too fast.

PROBABILITY

You could have an accident.
They must be rich.

She looks so young. She can't be over 30.
They're always together. She might be ill.

She's gone very pale. That can't be true!

He said he earns over a They must be good friends.

million.

Match the explanations with the sentences.

Eliza must be in her office.

A
B
[
D

... because she's normally there at this time,
I'm not sure but it's possible,
I'm sure.

I'm sure. It's impossible.

She should be in her office,

She may be in her office.

She might be in her office.

She could be in her office.

She can't be in her office.




